000 000 000 000 000 pnies ap soinag so| esed sauopepuody ap opuod (ze
000 000 000 000 000 onjesadQ ojses) A eaneonp3 eulwop e esed sauoioepody ap opuod (LB
LL'ELS'Z96 LEL- 68'GE6'0Z8'S6 68'G£6'0Z8'GH 00'605'€8.'L22 000 00°605°€8.'L22 (ge+.e+9e+GR+pELER+ZEL L B=Y) SBUO|oelOdY Y
sepejanbi)g sajelopad Seloualajsuel]
uoloisodsiqg a1qi ap sosaibu| ap sejuapaax3y sosaibu|
ZSvIZ'IZL LSE- PETLSZ'T69'08E  VE'LSZ'T69'08C 98°SOV'CIYI8EL 000 98°S9VELY'8EL ugidisodsiq 8iqi ap sosaibu| ap |ejo
LP'€28'89G'L LY€28'89G'L 000 000 000 ugisodsiq aiqi] ap sosalbuj son (z1
000 000 000 000 000 s8|e007 sosalbu| us sauopedonied (||
Ly'€28'89S'L Lr'£28'895°L Ly'€28'896"L 000 000 000 (z1+11=11) uooisodsiq a1qi ap sosaibuj song
00°'9€8°LE9'GC 009€8'LE9'SZ 000 000 000 solpisgng A soluaauon) sonQ (1Y
00'9€8°LEI'ST 00'9€8°'L£9'62 00°9€8°'LE9'SZ 000 000 000 SOIUBAUOD Y
000 000 000 000 000 000 selouaisjsuel]
000 000 000 000 000 SODIWOU02T SOARUaDU| SORQ (Gt
000 000 000 000 000 soIpawa)ul-sooaday ap ugesuadwoy) ap opuo (i
0 v€8'68. 0r'vE8'68. 00°60L°LLL'L 000 00601 LLL'L SOABNN S8|IAoWOo)NY aiqog o)sandui| (g1
€1°59Z'€Z1 £1'69Z'cZ1 00'2S5'L¥E 000 00°25S'2pE NVS| uopesuaduiod ap opuo (z!
000 000 000 000 000 SO|NYJYaA ap 0sn © eusua] (|
L¥'195'609- £5'660'€L6 £5'660'CL6 00°199'815'L 000 00°199'816'L (SHP14€14Z1+ LI=]) |BISIH UOIORIOGR|OD B| 8P SOPBALISQ SOABUROU| |
000 000 000 000 000 seAfjelapa4 sapepnul se| ap sosaibu| soj ap uowez)qe}sy ap opuod (LY
6.°€29'689'vL 6.°€29'689'vL 00°€08'045'¥2 000 00°€08'0L5'vE ejuay ej 8i1qog ojsandwy |ap opuod (0LYy
000 000 000 000 000 |esaig A seuljoses) (gY
000 000 000 000 000 09|05 ap ugoeNx3 a1q0S %/ Lt (8Y
86'60L'GLZ'2 86'60L'G12'C 00'9¥1°090'6 000 00°9%L'090'6 a|qedionied |e1apa4 ugioepneoay el ap %9¢L 0 (LY
G5v1Z'8eE'L GS'rLZ'8EE’L  00°€86'00E'E 000 00'£86'00€'E sopiAas A UoNpold 2:q0g [eads3 ojsandw (9y
000 000 000 000 000 SOINGIED0IPIH 8P UQIDOBIXT ap 0puod (Gy
65'9e€'622'L 65°9£E£'62Z' L 000 000 000 uoesuadwon ap opuod (pY
00'L/6'8/6'C 00'1L/6'8/6'2  00'8€.'6ES'S 000 00'8€.'6ES'8 ugloepnesay A ugioez|eos|4 ep opuo (gy
LT 9LY'9EL'GE LZ'9LY'9EE’'SE  00°2hr'90L'06 000 00°2¥¥'90L'06 |ediiunjy ojusLuo4 ep opuod (Y
GL'L0L'6/6'S8  GL'LOL'6/6'G8  00'LLZ'SLE .61 000 00'LLZ'8L6'L6L sauopedinied ap |e18uss) opuo (Ly
€L'600'6Z€06L-  LZ'ELE'L9L'EVL  LTELE'I9L'EVL O00'E8E'960'VEE 000 00°'£8€'960'FEE (LLY+0LY+6Y+8U+LY+9U+SY+PU+EY+Z U+ Y=H) Sauoioedionied "H
¥ L9%'0LO' b 96'998'G16 96'998'G16 05 ¥EE'9Z6'y 000 0S'VEE'9Z6'Y so1d1a19g A sausig ap sejuap Jod sosaibu] ‘9
€L LbY'LES 8L 18°€00'¥9Z'GL L8°E00'v9Z'S1 00°LS1'SBL'EE 000 00'LSP'GBL'EE sojusiweydanoidy 4
91L'ZET'EBY' |- ¥8°'G0F'SE’L #8'G0r'GE9’ L 00'8£9'8LG'E 000 00'8€9'8LS'E sojpnpold '3
9€'889'€L1'GG- 00°6EY'69L VS 006EV'69L'¥S  9E°LZL'EV6'60L 000 9€°LCL'EVE'60L soydasag 'a
00'827'9" 000 000 00°8Z¥'9 000 00°8Z#'9 seJofajy 8p SaUOINQLIUOD "D
000 000 000 000 000 000 |e1oog pepunbeg ap sauoloeuody £ sejon) 'g
09'6£0'Z6E V1L~ Ov'E0v'9ZZ'9EL Ob'€0¥'922'9EL 00 EVPP'8L9°0SZ 000 00°EPP'8L9°0SZ so)senduwy "y
uglaisodsiqg a1qi] ap sosaibuj
S 14 c+l=¢t 4
sauoloonpay sosaJbu| ep oigny
elouasajqg opepnesay opeBuaaag opesyipon A sauojoe)duwy opews3
OS3IYONI

2202 34 Ti¥gv 3a 0€ v OY3N3 34 Lo 13a
407 - 0avTIVL3IA SOS3IUONI 3d OJILITVYNY OAvLs3

010S 3d YONHIOVd 3d OIdIJINN




OI¥YANIDVH HOAVYHNDOdd ODIAN|S

31N3AISI™d

AVAIDINNIN YIYIHOSIL v 30 OlYYL3HI3S

€9°/8L'89'68V-  CTLBL'EIS'OLY  EZLBL'ELS'OLY 98'VL6'961°096 000 98'%26'961°996 (11 +11+1=A1) sosaibujap [ej0] "Al
0070 000 000 00°0 000 000 (¥ = 111) sojuaiweioueUl{ ap sopeALIag sosaibu] °[|] ap |el10L
000 000 000 000 000 000 SOjualeIouBUlY 8p SopeAllaq sosalbu)] 'y
(v = 111) sojuaiweloueul4 ap sopeAuaq sosalbul ‘|1
LL'ELS'ZO6'LEL-  68'SE6'0ZR'S6  68'SE6'0Z8'S6  00°60S'€8LLZT 000 00'60S'€8L'L22 sepejanbn3 sejesapay sejoualaysuel) ap [ejo)
000 000 000 000 000 sepejanbil] sajelapad SeIoUaIajSuBRl] SENO
000 000 000 000 000 000 sepejanbi)3 sa|elapad seloualsjsuel)] senQ '3
000 000 000 000 000 000 seuoloe|iqnp A sauoisuad A ‘sauolouaaqng A soipisqng ‘selouasajsuel) ‘g
000 000 000 000 000 oJauly opuo4 (zZo
000 000 000 000 000 ap saiojonpold soidpiunyy A seajeiapad sapephul esed opuo4 (19
000 000 000 000 000 000 (z2+192=9) sauoioeuody ap sojulsig sopuod ‘9
000 000 000 000 000 solpisqng A sojuaauo) souQ (9
000 000 000 000 000 uopeubiseay ap solusauod) (£q
000 000 000 000 000 UOIOEZI|ENUSDSE(] ap SoluaAuo?) (Zq
000 000 000 000 000 PN|ES U3 |BID0S UDID8)J0Id Sp soluaAue) (1Lq
000 00°0 000 000 000 000 (va+€q+zq+19=8) solusauo) 'g
000 000 000 000 000 SeAllelopad sapepiug se| ap 0jualLDalelo |9 eled sauooepody 8p opuo (ge
[esepad olsig
000 000 000 000 000 [ep A sopejs3 so| ap ealiqnd pepunbag e| eied sauopepody ap opuod (Le
000 000 000 000 000 sojnpy ap A eoibojousa | uoeonp3 e| esed sauowepody ap opuo4 (ge
000 000 000 000 000 sa|dnnyy seuolepody ap opuo4 (Ge
|eiapa4 ojU)siq |9p SA|BLO)LIS | SBUOIDBIIBWS(Q
8t LOE'vEY'8L 8¥"L9E'VEY'BL 00°299'09'961 000 00°£99'09F'961 se| ap A soidpiunjy so| 8p ojualwios|elod |o eled ssuoenody ap opuod (pe
L2598 21 LPP2G'98E'LL  00°ZPB'ZZE'LE 00'0 00'Z¥8'2ZE'LE [B100S BIMONySaeyu| | esed sauopepody ap opuo (ge
S 14 Z+l=¢t Z
Sauoioanpay sosaibu) ep ougny
ejoualajiq opepnesay opeBuanag opesjipo A sauojoelduwy opews3y
OS3HONI

2202 44 1i-¥gy 30 0€ TV O"3IN3 3a 10 13a
407 - OAvTIVL3Ad SOSIHUONI 3d OJILITVYNY Oav.Ls3

0.10S 30 YONHOVd 3a OIdIJINNW




-




96'9+2'650'86 96'9v2'650'86 00°/99'09¥'961 000 00°£99°097'961 se| ap A soidiolunyy so| ep ojuaiwios|euod |8 eied sauopeliody sp opuod (pe
: LB°LLLEVL' LT L6°LLLEPLLE  0D'ZP8ZEE'LE 000 00'gt8'eze’ LE [e100S BiMONIsaeyu| e| esed sauopepody ap opuod (ge
00’0 000 000 000 000 pnjes ap soiojales so| esed sauoioepody ap opuod (ze
000 000 000 000 000 oaesadQ ojseg A eaneonp3 euiwop e| eted seuooepody sp opuo4 (1e
L0'¥81'086'L0L- €6'720'C08'6LL  €6'VZ0'E08'6LL 0060S'€8.L'L2E 000 00'605'€8.L°L22 (ge+/e+9R4GRIPRACR TR L 2Y) SOUOIORMOdY Y
sepejenbig sojelopad sejouaiajsuel]
uoidjsodsiq 21qi ap sosaibu| ap sejuspacxy sosaibu)
9Z'850°180°562- 09°L0P'ZEL'EVY 09 LOV'ZEC'SYP 98'SOV'ELY'8EL 000 98°'GoP'ELY'8EL uoidisodsiq aiqi ap sosaibuj ap |ejo)
6E£°26L°109'L 6E°Z6L'L09'L 000 000 000 uoisodsiq aiqi ap sosaibu| sonp (g
000 000 000 000 000 se|eo07 sosalbu| ua seuoioedioied (1)
6£°26L'L09'L 6€'26L'1L09°L 6E'Z6L°L09'L 000 000 000 (ZI+11=1) uolaisodsiq aiqi ap sosaibu| sonQ
00'9€8'LED'SE 00°9€8'LE9'SZ 000 000 000 SOIPISGNS A SOIUBALOY OO (LY
00°9£8'LE9'SE 009£8'LE9'SZ 00'9€8°LE9'ST 000 000 000 SOIUBAUOY Y
000 000 000 000 000 000 selouaiaysuel] f
000 000 000 000 000 SO2IWQUO0OT SOAUBU| SONQ (S
00°0 000 000 000 000 solpawueju|-sooadey ap ugioesuadwor) ap opuod ({1
#S'BZY'0LO'L PS'8ZY'OLO'L 00°60L LLL'L 000 0060L'LLL L SOABNN S8[IA0LWo)NY 81qog ojsendw (g
06861 vS1L 06'86L'¥S1L 00°285°LYE 000 00'2SS'LvE NVS| uoioesusdwo)) ap opuod (z1
000 000 000 000 000 so|nalyas ap osM o eouaua] (|1
9G'€€0'pSe- vy LZ9'v9L L v L29'v9L'L 00°199'81LS'L 000 00'199'8L5"L (St+¥1+€1+Z14+11=]) |BOSI4 UQIORIOQRIOD B 8P SOPBAIIB( SOAUBIY] |
000 000 000 000 000 SeAljeiapa sapeplju3 se| ep soselbu| so| ap uoioez|jiqe)sg ap opuod (1LY
2T'GSL'L9E'LL CTSSLL9E'LL  00°€08'045'VE 000 00°€08°045'vZ Bjuay e| 21qog ojsendwy [ap opuod gLy
000 000 000 000 000 |@sa1q A seuljoses) (Y
000 000 000 000 000 08|0J18d 9p UDIOBXT B1q0S %/LL'E (8Y
z20'690'8L2'2 z0'690'8L2'Z 00'9¥L'090'6 000 00°9%1'090'6 8|qedionied |ejapad UQREPNEdaY B 8P %9EL 0 (LY
24'199'699'L CL°199'699'L 00'€86'00€'E 000 00°€86'00€E'E soines A uoloonpold aiqos |epeds3 ojsendw) (gy
000 000 000 000 000 $S0.NQJesolpiH ap ugiaoesxg ap opuo4 (sy
60°L00°9EZ’L 60°L00'9€Z'L 000 000 000 ugesuadwon) ep opuod (#y
gLZrl'ero'e 8L'ZrL'Zro'e 00'8€.'6£5'8 000 00'8EL'6ES'® ugioepnesay A ugiezieasi4 ap opuod (gy
61°80Z°LEL'EY 61°80Z°LEL'EY  00'ZHP'90L'06 000 00°ZPi'90L'06 |edoiunyy ojuawo4 ap opuod (zy
80°9/8'0¥0'SOL  80'9/8°0¥0'SOL  00'LLZ'BL6'L6L 000 00°LL2'8L6'L6L sauonediued ep |eieuas) opuod (LY
05'LS9'v8L'6GL- 0S'SZLLILE'VLL  0S'SZLLL6'VLL 00'€8E'960'VEE 000 00°€8E'960'vEE (LLU+0LU+6U+8U+LU+9U+SU+PU+EU+ZU+LY=H) Sauoloedidipey H
29.9L'L1L9'e- 88'995'FLE'L 88°99S'VLE'L 0S¥EE'9Z6'Y 000 0S'FEE'9Z6'V soioiniag A seusig ap sejusp Jod sosaibuj ‘9
LOELL'O0L'GL- €6°LEL'BLO'BL £6°/€L'8L9'8L  00'LS¥'G8L'EE 000 00°LS¥'s8L'¢eE sojuajweydseroidy "4
£8°ZE9'G6E L LL'G00°€ECL'E L1'S00'EZL'E 00'8E9'8LG'E 000 00'8E9'81LG'E sojonpold '3
L6'L2L'0S9 LY 6£°666'262'89 B£'666'262'89  9€'LZL'EV6'60L 000 9E'LZL'EPE'60L soyoaseq 'q
00'82¥'9- 000 000 00'8ey'9 000 00'8Zy'9 seuolapy op seuoldNqUIUOY "
000 o0oo 000 000 000 000 |e100g pepunbag ep sauojoeuody A sejonn 'g
0L'9Z€'S00" L0 L~ 06°9LL'EL9'6YL  06'9LL'ELY'6YL O0'EVP'8L90SZ 000 00°Ery'8L9'052 sojsendu) 'y
ugiaisodsiqg aiqi ap sosalbuy|
S 14 c+l=¢ Z
sauolaanpey sosaibuj ap oigny
elouaayq opepnesay opebuanaq opeayipop A sauoioedwy opeuwjsy
OSIHONI

¢20Z 3d OAVI 34 1€ TV O¥3IN3 3a 10 134
407 - 0av1IV.L3A SOSIUONI 3d ODILITYNY Oav.LS3
010S 3d YONHOVd 3A OIdIDINNIN




YodviaPodd

££°ZpS190'c0p-

00’0
000

L0'¥8¥'086°L0}-

000
000

000

000

ZILYO OTYPHCHARYZI13 VI¥3 VHLIN

€S'ZEY'SEL'EIS

000
000

£6'vZ0'c08°611
000
000
000
000
000
000
000
000
000
000
000
000
000

000
000

NIS

£5°ZEP'SEL'EIS

000
000

€6'vZ0'C08'611
000
000
000
000
000
000
000
000
000
000
000
000
000

000
000

98'v.6'961'996

000
000

00°605'€8L°222
000
000
000
000
000
000
000
000
000
000
000
000

000

000
000

000

000
000

000
000
000
000
000
000
000
000
000
000
000
000
000
000
000
000

98'v.6'961°096

000
000

00'605°'€8.°L2Z
000
000
000
000
000
000
000
000
000
000
000
000
000

000
000

DeNOY HIINVLOLISINYI V'YW
M.WJJ Yy

O &)
S SRR

v o
S AN V/¥3H0S31 V1 30 O1¥V13¥IIS

(1 +1+1=A1) sosaibuj ap |ejo] "Al

(v = 1) soyusiweroueui4 ap sopeaAuaq sosalbuj |y op |B10L
sojualweloueul 4 ap sopealag sosaibuj 'y

(v = 1) sojusiweioueul4 ap sopeAlaq sosalbu)

sepejanbn3 sajeiapa4 sejoualajsuel] ap |ejoL

sepejenbn3] sajelapa selousIaiSUBI] SEIQ

sepejonbiy3 se|esepa sejoualaysuel] senQ '3

sauoloe|iqny A sauoisuad A ‘sauoiousaqng A solpisqng ‘seloualajsuely ‘g
oJaulyy opuo4 (zo

$0INQJEDOIPIH 8P $810)aNpold soiddiuny A seanesspa sepepnug eled opuo (Lo
(29+12=0) seuoisepody ep sojunsig sopuod '

soipisqns A sojuaauog sonQ (g

ugioeubiseay ap soluaauo? (£q

uoloEZijR)US2Sa( ap soluaAuol) (zq

PNiES UB [BID0S UOIDD8)0.d Bp SoIuBAuDD) (Lg

(ra+£9+29+19=g) sojueauo) ‘g

SeAljesapad sepephug se| ap ojualwide|elod |9 esed sauceuody ap opuod (ge
|eJapay

ojuisig |ap A sopejs3 soj op eojqnd pepunbag e esed ssuoioepody ep opuod (/e
so)npy ap A eaibojouss | ugoeonp] ej esed sauoienody ap opuod (ge
sejdnnyy sauooeuody ep opuo4 (ge

|eJapa4 OJUSI [9p SO|ELIOJLID | SaUCIoBdIBWa(]



02°022'50L'92 02'022'G0L'9Z 00ZrB'ZZE'LE 000 00'Z¥8'Z2E'LE |eloog einjonuseeyu| e| ered sauoloeyody ap opuod (ge
oo'o 000 000 000 000 pnjes ap soloineg so| esed sauoloepody ap opuod (ze
000 00’0 000 000 00°0 onjesadg oises A ealleonp3 euiwop e| ered sauoioepody ap opucd (Le
£1°000'/86°'€8- 18'80S°96L'EVL 29°805°96L'ErL  00'606'€8L'.22 000 00'605'€8L'L22 (ge+/B+9B+GR+PRLERIZR+|B=Y) SauojoeHOdY Y
sepejanbig se|elapad seioualajsuel]
uolaisods|q aiqi ap sosalbu| ap sajuapaaxgy sosaibuj
SLLIT'YLE'EVE- LL'8vZ 66V v6Y LL'8YZ'66Y'v6Y 98'SOP'ELY'BEL 000 98'SOP'ELY'8EL ugloisodsiq 8.q1 ap sosaibu| ap [ejo)
PE'96E'GE’L PE£'96£'GET’L 000 000 000 uploisodsiq 8iq17 ap sosaibu) sonQ (g
000 00’0 000 000 000 sa|eoo sosalbu| ue saucipedionied (1|
YE£96£'6E9'L PEO6E'SED'L PE96E'SEY'L 000 00’0 00’0 (zi+11=1) uoidisodsiq a4qi @p sosaibuj sonQ
00'9¢e8’ LER'SZ 00'9£9°LER'SZ 000 000 00’0 soipisgng A sotuaauoD sono (14
00'9€8'L€8'ST 00'9¢€8'L€8'GZ 00°9€8°'L€8'SZ 000 000 000 SO|UBAUDY) ‘W
000 000 000 000 000 000 Sejoualaysuel)
oo'o 000 000 ooo 000 SO2IWQUODT SOAUBIU| SONO (G
000 000 000 00’0 000 solpauuaiul-sooaday ap uoesuadwog ap opuod (y!
66°GEF POL'L 66'GEY POLL 00°60L LLL L 000 00°60L'LLLL SOABNN SB|IAQWOINY 8100 osenduw] (1
81°982'G81 81'982's81 00255 'LvE ooo 00°25G'L¥E NYS| ugioesuadwog ap opuod (g1
000 000 000 000 000 SO[nNajyaA ep osn o elpuaua] (|1
£8'8£6'891- LL'ZZL6YE L LLezL'eve’L 00°199'815"L 00’0 00°199'81L5'L (S1+p14€14Z1+ LI=]) |BOSI4 UOIDRIOQR|OD €] P SOPEALIRQ SOARUAIU| ']
000 000 000 000 000 senjelape sspepiu3 sej ap sosaibu| so| ap uoiezi|iqeIs3 ep opuod (LY
LL0ZO'Pav'LL LL0Z0'FOv LL DO'E08'0L5'v2 000 00°€08'0L5'¥2 ejuay e| aiqos ojsanduw| jap opuod (LY
000 000 000 000 000 |ese1g A seurjoses (Y
000 000 000 000 000 08[01j9d 8p UQIDBAXT BIGOS %LL'E (8Y
LE'9EL'ELE'Z Le98L'E1E'E 00°9rL'090'6 o000 00'9%1L'090'6 ajqedioiied [eJapad UQIDEPNEDSY €] 8P %9¢L'0 (LU
YE'982 L96°L ¥E€'98Z°L96°L DO'EE6'00E'E 000 00'£86°008'E s0101UBS A UQIDINPOId B1qog |efads] ojsandw) (gy
00’0 00°0 ooo 000 000 SOJNQIEICIPIH 8P UQIDIBIXT ap opua4 (GY
96'€8Z'6FY L 96°€8Z'6VY'L o000 000 00’0 uoiesuadwog ap opuod (¥4
86°LL0°90E" Y 85°120'908' 00'8EL'6ES'8 000 00'8EL'6ES'8 uoloepneday A ugioezZijeasi4 ap opuod (gy
80°982'861'25 80'98.'861'2S 00°Z¥P'90L'06 000 00°2Z¥¥'90L'06 |edioiunyy ojuswod ap opuod (Zy
22°999'25L°LLL 22'999'2GL°LLL 00'LLZ'8L6'L6L 000 00°LLZ'816'L6L sauoipedidiued 8p [eiBusD opuod (1Y
8Z'ZeS'vro'9ElL- 2L'098' LSy L6L 2L°058'L5Y .61  00'E8E'960 VEE 000 00'E8BE'960'¥EE (1 1Y+0 LU+6U+BY+LU+9Y+SU+PY+EU+ZU+LU=H) Sauoidedidijed "H
£9°LLE'PEE T 18911 L6S 18°9L¥'L6S 05'veL'9Z6'y 000 0SvEL'9Z6 ¢ soloiaag A saualg ap sejuap Jod sosaibul ‘g
P1'659'6L5'Z1- 98°L6L'59Z' L e 98°L64'692°LE  00°LSP'SBLEE 000 00'LSP'S8L'EE sojusjweydarosdy 4
v8'962'298- 9L°L¥e'959'2 9L L¥e'9s9'e 00'8€9'8LS'E 000 00'8£9'8LG'E $0jonpoid '3
LZ9E2' 96V 08 60°LES OVY' 6L 60°L68'9PF'6L  9E7LZL'EVE'EOL 000 9¢'J2L'EV6'60L soyosalag ‘g
00°82¢'9- 00’0 00’0 00'82¢'9 000 00'8zZ¥'9 sejolapy op sauolanguuo) ‘o
000 000 000 000 000 000 |e1o0s pepunbag ap sauojoeyody A sejon) g
0L Lry'aye’ 98- 06°L00°0LZ'v9) 06°L00'042'v9L  DO'EFF'8L9'0SZ 000 00'EPP'aLe'0s2 sojsendw| "y
uojoisodsiq a1q|7 ap sosaibu|
S 14 e+l=¢t [4
sauolaonNpay sosalbu| ap oigny
ejouasayig opeEpNEIay opebuanag opeayipoy £ sauojoeljduny opewijs3
OSIHONI

<202 30 OINNr 340 0€ 7V O¥3AN3 34 10730

407 - 0Av1IV.L3Aa SOSIHUONI 30 OJILITVYNY 0av.is3

010S 3d YONHIVd 3d OIdIDINNIN




134035

88°LLZ'L06'LZE-  B86'9GL'S6Z'8E9  B86'0GL'G6Z'8E9 98'P.6'961'096 00°0 98'9.6'961'996 (1 +1+1=A1) sosaibu|ap [ejoL “Al
000 00'0 00'0 00°0 000 000 (¥ = 111) sojusjwesueuly 8p sopeAisaq sosaibul °jjj ap |ejoL
000 000 000 000 000 000 SOJUaWE|DUBULY ap sopeAlaq sosaibu| 'y
Ai s __: sojusiweldueuld ap sopealag sosaibu) ‘|||
€1°000'L86'€8- 18°805'96L'CYl  L8'805'96L't¥l 00°60S'€8.'LZT 000 00°605°'€8L°L2ZT sepejenbi}3 sajesopad sejouaiajsuel] ap €10
000 000 000 000 000 sepejanbil3 sejelapa SEIOUBIBISURL| SENO
000 000 000 000 000 00°0 sepejenbi3 sejesopad sejousisjsuel] senQ '3
000 00’0 000 000 0oo 000 suoloejiqnp A sauoisuad A ‘sauojouaaqng A sojpisqng ‘sejpuasajsuel] 'q
000 000 000 000 000 iUy opuod (g9
000 000 00°0 000 000 ap saioynpold soidpiuniy A seayesapad sapepliug esed opuod (19
002 000 000 000 00’0 0070 (z9+19=29) sauojoepody ap sojysig sopuod '
000 000 000 000 00°0 soipisgns A soaauog sono (¥q
000 000 000 000 000 ugioeubiseay ap souasuod (€9
000 000 ooo 000 000 ugIoezZ|jeijuassa(] ap soluaauol (Zq
000 000 000 000 00°0 pnjes ua [B1205 UQID28J0id 8p soluaauo) (19
000 000 000 000 000 0070 (ra+£q+Z9+1q=g) solusruo) g
000 000 0o'0 000 00°0 sapepijug se| ap ojusiwidsjeyo @ eled sauoioeuody ap opuo4 (ge
|elapa4 osig
000 000 000 000 00°0 1op A sopes3 so| ep ealjqnd pepunbag e| esed sauoioeuody ap opuod (e
000 000 00°0 000 000 solnpy @p A eaiBojousa ] ugioeanp3 e| eied sauoipeuody ap opuod (ge
000 000 000 000 000 sajdyn seuocioepody ap opuod (ge
|BiBpa4 OJUISI] |9p S8|euojua )| saucpedlewaq se|
29°882'L69° L1 19'88Z'169'LLL  00°/99'09¢'961 000 00°£99'09+'961 ap A soidiojunyy so| ap ojusiwiosjepo (@ ejed sauoipepody ap opuod (ye
S 14 ¢+l=¢t [
s8uoi29Npay sosaibul ap osgny
elouasajiq opepnesay opeBuanaq opesyipow A sauoeldwy opewns3y
OS3IHONI

ZZ0Z 34 OINNr 3a 0€ v OY¥3IN3 34 10 13ad

407 - 0av1IV.L3A SOSIYONI 3d OJILINVYNY OavLis3

010S 3d YONHOVd 3d OIdIJINNI




